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a) 9

b) 10

c) 12

d) 15

Five men can do a work in 12 days while 10 women can do the same work in 8 

days. In how many days can 3 men and 4 women together complete the work?

पााँच पुरुष एक कार्य को 12 दिन में कर सकते हैं जबदक 10 मदहलाएाँ उसी कार्य को 8 दिन में 

कर सकती हैं। 3 पुरुष और 4 मदहलाएाँ दमलकर उस कार्य को दकतने दिनों में पूरा करेंगे?
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a) 18.5%

b) 16 3/7%

c) 17.5%

d) 18.25%

The cost of a car is 400% greater than the cost of a bike. If there is an increase 

in the cost of the car by 15% and that of the bike is 20%, then the total 

increase in the cost of the 5 cars and 10 bikes is -

एक कार का मूल्र्, एक बाइक के मूल्र् से 400% अदिक है। र्दि कार के मूल्र् में 15% और 

बाइक के मूल्र् में 20% की वदृि होती है, तो 5 कारों और 10 बाइकों के मूल्र् में कुल वदृि

दकतनी है?
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a) 55%

b) 50%

c) 35%

d) 45%

A trader marks up his goods by 80% and gives discount of 25%. Besides it he 

weighs 10% less amount while selling his goods. What is the net profit of 

trader?

एक व्र्ापारी अपने माल पर 80% अदिक मूल्र् अंदकत करता है और 25% की छूट िेता है। 

इसके अलावा अपना माल बेचते समर् वह 10% वजन कम िेता है। व्र्ापारी का कुल लाभ 

क्र्ा है?
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a) 7300 cm2

b) 7932 cm2

c) 8000 cm2

d) 7392 cm2

Find the total surface area of a cylinder with diameter of base 28 cm and 

height 70 cm. (Take π = 22/7)

एक बेलन का कुल पषृ्ठीर् के्षत्रफल ज्ञात कीदजए, दजसके आिार का व्र्ास 28 सेमी और 

ऊाँ चाई 70 सेमी है। 
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a) gain 2.25%

b) loss 5.25%

c) loss 2%

d) None of the above

The cost of two articles are in the ratio 3 ∶ 5. If there is 30% loss on the first 

article and 20% gain on the second article, what is overall percentage of loss 

or gain?

िो वस्तुओ ंके मूल्र् 3 ∶ 5 के अनुपात में हैं। र्दि पहली वस्तु पर हादन 30% तथा िूसरी वस्तु 

पर लाभ 20% हो, तो हादन र्ा लाभ का समग्र प्रदतशत क्र्ा है?
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a) 9000

b) 9990

c) 8900

d) 9900

What is the greatest number of 4-digits which is divisible by 45, 25 and 5?

4 अंकों की सबसे बडी संख्र्ा कौन सी है जो 45, 25 और 5 से दवभाज्यर् है?
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a) 43.5

b) 45.5

c) 44.5

d) 41.5

The average of twelve numbers is 42. The average of the last five numbers is 

40, and that of the first four numbers is 44. The sixth number is 6 less than the 

fifth number and 5 less than the seventh number. The average of the sixth and 

seventh numbers is:

बारह संख्र्ाओ ंका औसत 42 है। अंदतम पााँच संख्र्ाओ ंका औसत 40 है और पहली चार 

संख्र्ाओ ंका औसत 44 है। छठवीं संख्र्ा, पााँचवीं संख्र्ा से 6 कम है और सातवीं संख्र्ा से 5 

कम है। छठवीं और सातवीं संख्र्ाओ ंका औसत है:
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a) 3 years

b) 1 years

c) 2 years

d) 2 years 6 months

Four years ago, the average age of 3 members of Raju's family was 14 years. 

After the birth of Raju's daughter, the average age of Raju's family remains 

the same. What is the age of his daughter?

चार वषय पहले, राजू के पररवार के 3 सिस्र्ों की औसत आरु् 14 वषय थी, राजू की पुत्री के जन्म

के बाि, राजू के पररवार की औसत आरु् आज भी समान ही है, उसकी पुत्री की आरु् दकतनी 

है?
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a) 7:30 AM

b) 8:30 PM

c) 7:30 PM

d) 8:30 AM

A thief steals a car at 3:30 A.M. and drives it at 64 km/h. The thief is 

discovered at 4:30 A.M. and the owner starts the chase with another car at 80 

km/h. When will he catch the thief?

एक चोर 3:30 पूवायह्न पर एक कार चुराता है। और इसे 64 दकमी/घंटा की गदत से चलाता है। 

चोर की खोज सुबह 4:30 बजे हुई। और मादलक 80 दकमी/घंटा की गदत से िूसरी कार से 

उसका पीछा करना शुरू करता है। वह चोर को कब पकडेगा?
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a) 350

b) 315

c) 324

d) 300

450 candidates apply for admission in a school. 10% candidates being Over 

Age do not give the exam and 20% fail in the exam. How many candidates 

will qualify for admission?

दकसी दवद्यालर् में प्रवेश के दलए 450 अभ्र्थी प्रवेश परीक्षा में आवेिन करते हैं। 10% 

अभ्र्थी आरु् सीमा से अदिक आरु् होने के कारण परीक्षा नहीं िे पाते हैं और 20% अभ्र्थी 

परीक्षा में अनुत्तीणय हो जाते हैं, तो कुल दकतने अभ्र्दथयर्ों को प्रवेश दमलेगा?
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